MCC

MCCHA4~y K RJ)L A M8-20
MCCHA~y K KL A M22-30
MCCHA~y K KRJL+A W3/8-3/4

&% : PMDDM20. PMDAM30. PMDBOO2

PMDDM20 MCC #4AwK KJLFF M8-20 PMDAM30 MCC #14AwE RILMEH M22-30
HRBES & & £ #=| N MRS K #H=| N
1435100 | #A~vK DI R J 1 1 1436105 | HA~9F INIE ] 1 1
1437002 | ALTL—F DI'FJ 1 2 1436120 | ALTL—b FIR] 1 2
1437003 | ALTL—HBZ D 1 3 1438003 | ALTL—HBZ Al 1 3
1438004 | ALRNUEIL 1 4 1438004 | HLRNUEIL 1 4
1438005 | EIE/N\UEIL 1 5 1438005 | EE/N\VEIL 1 5
1438006 | Y4 1 6 1438006 | Yv% 1 6
1438007 | f@ER&HAILE 1 7 1438007 | friEiRsHRILE 1 7
1438008 | FES 1 8 1438008 | & 1 8
1438009 | RFYL4H” 4 9 1438009 | XFYv4° 4
1435145 | 81k M8-20 1 10 1436100 | $41R M22-30 1
1438011 RARSERILE M6x18 4 | 11 1438011 RANRGSERILE M6x18 4
1438012 | $HEk 5Bk 4 | 12 1438012 | #BEk 55k 4
1438013 | +FIAFEF AR M4x6 2 |13 1438013 | +FIUFEFANPRD M4x6 2

F—Y" 148 | 14 Fr—4Y" 148
PMDB002 MCC #4AwK KILNF W3/8-3/4
HRBES I #E| No
1435100 | #A~YK DI R ] 1 1
1437002 | hLTL—b DIk 1 2
1437003 | HLTL—HEZ D 1 3
1438004 | ALRRNUEIL 1 4
1438005 | EIFE/\UFIL 1 5
1438006 | Y4 1 6
1438007 | f@EiR$hHRILE 1 7
1438008 > 1 8
1438009 | RFYL4H" 4 9
1434100 | #1R W3/8-3/4 1] 10
1438011 RARSERILE M6x18 4 | 11
1438012 | @Bk 5Bk 4 | 12
1438013 | +FRFEFANMRD M4x6 2 |13

4

Fr—4%"




